

EXPRESSION OF RATIOS OF POLYGONAL NUMBERS AS CONTINUED FRACTIONS

P. BALAMURUGAN*, A. GNANAM and B. ANITHA

Department of Science and Humanities M. Kumarasamy College of Engineering (Autonomous) Karur-639113, India

Department of Mathematics Government Arts College, Trichy-620022, India

Department of Mathematics National College (Autonomous) Trichy-620001, India

Abstract

In number theory study of polygonal numbers vary in richness and variety. Also the study of continued fractions is a fast developing field. Here in this study an attempt has been made to represent ratios of polygonal numbers with triangular number, square number, pentagonal number, hexagonal number as basis.

Notations:

- 1. $\langle p_0, p_1, p_2, p_3, \dots, p_n \rangle$ continued fraction expansion
- 2. p(3, n)- triangular number
- 3. p(4, n)- square number
- 4. p(5, n)-pentagonal number
- 5. p(6, n)-hexagonal number
- 6. p(m, n)-polygonal number of order and rank 'm' and rang 'n'

*Corresponding author; E-mail: pbalamurugan1986@gmail.com Received July 26, 2019; Accepted September 13, 2019

²⁰¹⁰ Mathematics Subject Classification: 11A55.

Keywords: continued fraction, polygonal number, triangular number, square number, pentagonal number, hexagonal number.

1. Introduction

The theory of numbers has always involved an extraordinary position in the world of mathematics. This is because of the unchallenged verifiable significance of the subject: it is one of only a handful couple of orders having certifiable outcomes which originate before the general thought of a university or an academy. Almost consistently since old style relic has seen new and captivating revelations identifying with the properties of numbers. Number theory is a wide subject with many strong connections with different parts of science. Our craving is to show a fair perspective on the zone.

Each subspecialty has a character interestingly its own, which we have tried to depict precisely.

The Pythagoreans additionally connected numbers with geometry. They presented the possibility of polygonal numbers: triangular numbers, square numbers, pentagonal numbers, and so on. The purpose behind this geometrical terminology is clear when the numbers are spoken to by dots arranged in the form of triangles, squares, pentagons, hexagons and so on. Here in this study an endeavor has been made to present to ratios of polygonal numbers with triangular number, square number, pentagonal number, hexagonal number as basis. If is the number of sides in a polygon, the formula for 'm'-gonal number with rank 'n' is

$$p(m, n) = \frac{1}{2}(n^2(m-2) - n(m-4)).$$

1.1. Continued Fraction:

1.2. An expression of the form

$$\frac{a}{b} = p_0 + \frac{q_0}{p_1 + \frac{q_1}{p_2 + \frac{q_2}{p_3 + \frac{q_3}{\ddots}}}}$$

where p_i , q_i are real or complex numbers is called a continued fraction.

Theorem 1.2. The continued fraction of $\frac{p(3, n)}{p(m, n)} = \langle 0, k, 1, x \rangle$, where $x = \frac{n - 2k + 1}{2k}$.

Advances and Applications in Mathematical Sciences, Volume 18, Issue 10, August 2019

Proof.

$$\frac{p(3, n)}{p(m, n)} = \frac{(n^2 + n)/2}{(n^2(m-2) - n(m-4))/2} = \frac{n+1}{n(m-2) - (m-4)}.$$

Take m = k

$$\frac{p(3, n)}{p(m, n)} = \frac{n+1}{n(k+1) - (k-1)} = \frac{n+1}{nk+n-k+1}$$
$$= k + \frac{n-2k+1}{n+1}$$
$$= 1 + \frac{2k}{n-2k+1}$$
$$= \frac{1}{\frac{n-2k+1}{2k}}$$
$$= 1 + \frac{1}{x}$$

where

$$x = \frac{n-2k+1}{2k}.$$

Theorem 1.3. The continued fraction of $\frac{p(4, n)}{p(m, n)} = \begin{cases} \langle 0, k, 2, x \rangle, & \text{if } x = \frac{n-2k+1}{4k-2} \\ \langle 0, k, 1, x \rangle, & \text{if } x = \frac{n-k}{k} \end{cases}.$

Proof.

$$\frac{p(4, n)}{p(m, n)} = \frac{2n^2}{(n^2(m-2) - n(m-4))/2} = \frac{2n}{n(m-2) - (m-4)}.$$

Case (i) Take m = 2k,

$$\frac{p(4, n)}{p(m, n)} = \frac{2n}{n(2k+3-2) - (2k+3-4)}$$

1000

$$= \frac{2n}{n(2k+1) - (2k-1)}$$

$$= \frac{2n}{2nk+n-2k+1}$$

$$= 0 + \frac{1}{\frac{2nk+n-2k+1}{2n}}$$

$$= k + \frac{n-2k+1}{2n}$$

$$= 2 + \frac{4k-2}{n-2k+1}$$

$$= 2 + \frac{1}{x},$$

where

$$x = \frac{n-2k+1}{4k-2}.$$

Case (ii) Take m = 2k + 4

$$m = 2k + 4$$

$$\frac{p(4, n)}{p(m, n)} = \frac{2n}{n(2k + 4 - 2) - (2k + 4 - 4)}$$

$$= \frac{2n}{n(2k + 2) - 2k}$$

$$= 0 + \frac{1}{\frac{2nk + 2n - 2k}{2n}}$$

$$= k + \frac{2n - 2k}{2n}$$

$$= k + \frac{1}{\frac{n}{n - k}}$$

$$= 1 + \frac{k}{n - k}$$

Advances and Applications in Mathematical Sciences, Volume 18, Issue 10, August 2019

$$= 1 + \frac{1}{\frac{n-k}{k}}$$
$$= 1 + \frac{1}{x},$$

where

$$x=\frac{n-k}{k}.$$

Theorem 1.4. The continued fraction of $\frac{p(5, n)}{p(m, n)} = \begin{cases} \langle 0, k, 3, x \rangle, & \text{if } x = \frac{n-2k+1}{6k-4} \\ \langle 0, k, 1, 1, 1, x \rangle, & \text{if } x = \frac{n-4k+1}{6k-2}. \\ \langle 0, k, 1, x \rangle, & \text{if } x = \frac{3n-2k-1}{2k}. \end{cases}$

Proof.

$$\frac{p(5, n)}{p(m, n)} = \frac{3n - 1}{n(m - 2) - (m - 4)}.$$

Case (i) Take m = 3k + 3.

$$\frac{p(5, n)}{p(m, n)} = \frac{3n - 1}{n(3k + 3 - 2) - (3k + 3 - 4)}$$
$$= \frac{3n - 1}{n(3k + 1) - (3k - 1)}$$
$$= \frac{3n - 1}{nnk + n - 3k + 1}$$
$$= k + \frac{n - 2k + 1}{3n - 1}$$
$$= 3 + \frac{6k - 4}{n - 2k + 1}$$
$$= 3 + \frac{1}{\frac{n - 2k + 1}{6k - 4}}$$

$$= 3 + \frac{1}{x},$$

where $x = \frac{n - 2k + 1}{6k - 4}$.

Case (ii) Take m = 3k + 4

$$\frac{p(5, n)}{p(m, n)} = \frac{3n - 1}{n(3k + 4 - 2) - (3k + 4 - 4)}$$
$$= \frac{3n - 1}{n(3k + 2) - 3k}$$
$$= \frac{3n - 1}{3nk + 2n - 3k}$$
$$= k + \frac{2n - 2k}{3n - 1}$$
$$= 1 + \frac{n + 2k - 1}{2n - 2k}$$
$$= 1 + \frac{n - 4k + 1}{n + 2k - 1}$$
$$= 1 + \frac{6k - 2}{n - 4k + 1}$$
$$= 1 + \frac{1}{x},$$

where $x = \frac{n - 4k + 1}{6k - 2}$.

Case (iii) Take m = 3k + 5

$$\frac{p(5, n)}{p(m, n)} = \frac{3n - 1}{n(3k + 5 - 2) - (3k + 5 - 4)}$$
$$= \frac{3n - 1}{n(3k + 3) - (3k + 1)}$$
$$= \frac{3n - 1}{3nk + 3n - 3k - 1}$$
$$= k + \frac{3n - 2k - 1}{3n - 1}$$

Advances and Applications in Mathematical Sciences, Volume 18, Issue 10, August 2019

1002

$$= 1 + \frac{2k}{3n - 2k - 1}$$
$$= 1 + \frac{1}{x},$$

where $x = \frac{3n - 2k - 1}{2k}$.

 $\begin{array}{ll} \textbf{Theorem} & \textbf{1.5.} & The \quad continued \quad fraction \quad of \\ \\ \frac{p(6,n)}{p(m,n)} = \begin{cases} \langle 0, \, k, \, 4, \, x \rangle, \, if \, x = \frac{n-2k+1}{8k-6} \\ \langle 0, \, k, \, 2, \, x \rangle, \, if \, x = \frac{n-k}{2k-1} \\ \langle 0, \, k, \, 1, \, 2, \, 1, \, x \rangle, \, if \, x = \frac{n-6k+1}{8k-2} \\ \langle 0, \, k, \, 1, \, x \rangle, \, if \, x = \frac{2n-k-1}{k} \end{cases} \end{array}$

Proof.

$$\frac{p(6, n)}{p(m, n)} = \frac{4n - 2}{n(m - 2) - (m - 4)}.$$

Case (i) Take m = 4k + 3

$$\frac{p(6, n)}{p(m, n)} = \frac{4n - 2}{n(4k + 3 - 2) - (4k + 3 - 4)}$$
$$= \frac{4n - 2}{n(4k + 1) - (4k - 1)}$$
$$= \frac{4n - 2}{4nk + n - 4k + 1}$$
$$= k + \frac{n - 2k + 1}{4n - 2}$$
$$= 4 + \frac{8k - 6}{n - 2k + 1}$$
$$= 4 + \frac{1}{x},$$

where $x = \frac{n - 2k + 1}{8k - 6}$.

Case (ii) Take m = 4k + 4

$$\frac{p(6, n)}{p(m, n)} = \frac{4n - 2}{n(4k + 4 - 2) - (4k + 4 - 4)}$$
$$= \frac{4n - 2}{4nk + 2n - 4k}$$
$$= k + \frac{2n - 2k}{4n - 2}$$
$$= 2 + \frac{4k - 2}{2n - 2k}$$
$$= 2 + \frac{1}{\frac{n - k}{2k - 1}}$$
$$= 2 + \frac{1}{x},$$

where $x = \frac{n-k}{2k-1}$.

Case (iii) Take m = 4k + 5

$$\frac{p(6, n)}{p(m, n)} = \frac{4n - 2}{n(4k + 5 - 2) - (4k + 5 - 4)}$$
$$= \frac{4n - 2}{n(4k + 3) - (4k + 1)}$$
$$= \frac{4n - 2}{4nk + 3n - 4k - 1}$$
$$= k + \frac{3n - 2k - 1}{4n - 2}$$
$$= 1 + \frac{n + 2k - 1}{3n - 2k - 1}$$
$$= 2 + \frac{n - 6k + 1}{n + 2k - 1}$$
$$= 1 + \frac{8k - 2}{n - 6k + 1}$$
$$= 1 + \frac{1}{x},$$

where $x = \frac{n - 6k + 1}{8k - 2}$.

Advances and Applications in Mathematical Sciences, Volume 18, Issue 10, August 2019

1004

Case (iv) Take m = 4k + 6

$$\frac{p(6, n)}{p(m, n)} = \frac{4n - 2}{n(4k + 6 - 2) - (4k + 6 - 4)}$$
$$= \frac{4n - 2}{4nk + 4n - 4k - 2}$$
$$= k + \frac{4n - 2k - 2}{4n - 2}$$
$$= 1 + \frac{2k}{4n - 2k - 2}$$
$$= 1 + \frac{2k}{4n - 2k - 2}$$
$$= 1 + \frac{1}{\frac{2n - k - 1}{k}}$$
$$= 1 + \frac{1}{x},$$

where $x = \frac{2n-k-1}{k}$.

2. Remark

It is worth mentioning that, depending on the base considered, the number of patterns followed is lesser by 2 to the order of the polygonal number.

3. Conclusion

In this paper, expression of ratios of polygonal numbers as continued fractions with triangular number, square number, pentagonal number, hexagonal number as basis are considered. Similarly, the other kinds of ratios of polygonal numbers and centered polygonal numbers may be studied in detail. The study can also be extended to higher dimensional figurate numbers.

References

 P. Balamurugan and A. Gnanam, Pattern classification of continued fractions with triangular number as base, International Journal of Pure and Applied Mathematics 119(15) (2018), 3413-3418.

1006 P. BALAMURUGAN, A. GNANAM and B. ANITHA

- [2] A. Gnanam and S. Krithika, Ratios of Polygonal Numbers as Continued Fractions, International journal of Engineering Science, Advanced Computing and Bio-Technology 8(3) (2017), 143-155.
- [3] Ivan Niven, Herbert S. Zukerman and Hugh L. Montgomery, An Introduction to Theory of Numbers, 5th edition, John Wiley and Sons, 1991.
- [4] Wissam Raji, An Introductory Course in Elementary Number Theory, May 9, 2013.
- [5] Andrew Granville, An Alternative Approach to Analytic Number Theory, 2014.
- [6] Adams, William, Shanks and Daniel, Mathematics of Computation 39 (159), 255-300, MR 0658231.
- [7] M. B. Nathanson, Sums of polygonal numbers, In analytic Number Theory and Diophantine Problem: Proceedings of a Conference at Oklahoma State University, 1984 (Ed. A. Adolphson etal). M. A Boston, Birkhauser 198 (1984), 305-316.
- [8] K. H. Rosen, Elementary Number Theory and its Applications, Fourth edition, Addison-Wesley, Reading, Massachusets, 2000.
- [9] Shailesh Shirali, A primer on Number sequences, Mathematics Student 45(2) (1997), 63-73.
- [10] S. G. Telang, Number Theory, Tata Mcgraw Hill publishing Company, New York, 1996.
- [11] J. V. Uspensky and M. A. Heaslet, Elementary Number Theory, McGraw Hill Book Company, 1939.
- [12] Vinogradev, An Introduction to the Theory of Numbers, London and New York, Pergamon Press, 1995.
- [13] Jonathan Browein, Alfvander Poorten, Jeffrey Shallit and Wadim Zudilin, Never Ending Fractions, An Introduction to Continued Fractions, Cambridge University Press, 2014.
- [14] Joseph H. Silverman, A Friendly Introduction to Number Theory, Fourth edition, 1996.
- [15] Neville Robbins, Beginning Number Theory, Second edition, Narosa Publishing House, 2005.
- [16] George E. Andrews, Number Theory, Hindustan Publishing Corporation, 1992.
- [17] David M. Burton, Elementary Number Theory, second edition, 1998.

Advances and Applications in Mathematical Sciences, Volume 18, Issue 10, August 2019